Math 103 – Beginning Algebra II
Preparing for Word problems, section 4.3

Quantities
Which of the following are quantities?  Draw a circle around each one that IS a quantity.
· Alicia
· Alicia’s age

· Car 1

· Speed of car 1

· Dimes

· Number of dimes

· Tickets to the Harry Potter movie
· Number of tickets to the Harry Potter movie

· 25% alcohol solution

· Number of liters of 25% alcohol solution

· CDs

· Number of CDs

· 2-year college graduates
· Number of 2-year college graduates
Translating
1.  A collection of coins contains 12 dimes and 8 quarters 

· How many coins are in the collection?  _________
· Write an algebraic expression for the value of the coins in the collection.  ________

Jeremy has x dimes and y quarters.

· Write an algebraic expression for the number of coins Jeremy has.  __________

· Write an algebraic expression for the value in dollars of Jeremy’s collection. __________
2. If you had 8 gallons of ice cream that was 5% butterfat, how many gallons of the 8 gallons would be 5% butterfat?  _______

· If you had 10 gallons ice cream that was 5% butterfat, how many gallons of the 10 gallons would be 5% butterfat?  _______
Pamela has x gallons of ice cream that is 5% butterfat.

· Write an algebraic expression for the number of gallons of 5% butterfat in x gallons of ice cream.  ____________

Use these definitions for problems 3 - 6.
Tailwind:  A wind that effectively increases the groundspeed of an airplane.

Headwind:  A wind that effectively decreases the groundspeed of an airplane.

Downstream current:  A current’s speed that effectively increases the speed of a boat in still water.

Upstream current:  A current’s speed that effectively decreases the speed of a boat in still water.

3.  The speed of an airplane in still air is 175 mph; the speed of the wind is 10 mph.  
· What is the total speed of the plane, with the tailwind?  ____________________   
· What is the total speed of the plane, with a headwind?  _____________________
Let a = the speed of an airplane in still air; the speed of the wind is 10 mph.

· Write an algebraic expression for the total speed of the plane 

with a tailwind.  
________________

· Write an algebraic expression for the total speed of the plane

with a headwind.
________________

Let a = the speed of an airplane in still air; the speed of the wind is w mph.

· Write an algebraic expression for the total speed of the plane 

with a tailwind.  
________________

· Write an algebraic expression for the total speed of the plane

with a headwind.
________________

4. Elaine and Alan can paddle their canoe at a speed of 8 mph, when the water is still. They plan to go canoeing on the Olentangy River today, where the current is 2 mph.  
· What is the total speed of Elaine and Alan’s canoe going downstream on the Olentangy River today?  

________________

· What is the total speed of the canoe going upstream on the Olentangy River today?



________________

5.  Dan and Kathy can paddle their canoe at a speed of b miles per hour, when the water is still.  They plan to go canoeing on the Olentangy River today, where the current is 2 mph. 

· Write an algebraic expression for the total speed of the canoe going downstream on the Olentangy River today.  
________________

· Write an algebraic expression for the total speed of the canoe going upstream on the Olentangy River today.

_______________
6. Judy and Dave can paddle their canoe at a speed of b miles per hour, when the water is still.  They plan to go canoeing on the Olentangy River today, where the current is c mph. 

· Write an algebraic expression for the total speed of the canoe going downstream on the Olentangy River today.  
________________

· Write an algebraic expression for the total speed of the canoe going upstream on the Olentangy River today.

_______________

7. Movie tickets at the AMC – Lennox cost $8.50 for shows after 6 p.m.  Movie tickets at the Marcus Theater in Crosswoods cost $6 for shows after 6 p.m.

a.  87 people attended the 6:45 p.m. showing of “The Dark Knight” at AMC Lennox, and 102 people attended the 6:45 p.m. showing of “The Dark Knight” at Crosswoods.

· How many people attended the 6:45 p.m. showing of “The Dark Knight” at the two theaters?
________________
· Find the total revenue for the 6:45 p.m. showing of “The Dark Knight” at the two theaters.
________________
b. A people attended the 6:45 p.m. showing of “The Dark Knight” at AMC Lennox, and C people attended the 6:45 p.m. showing of “The Dark Knight” at Crosswoods.

· Write an algebraic expression for the number of people who attended the 6:45 p.m. showing of “The Dark Knight” at the two theaters.
________________

· Write an algebraic expression for the total revenue for the 6:45 p.m. showing of “The Dark Knight” at the two theaters.


________________
